
1

2

ZLC-M90BS
ZLC-E42BS

6

6-1

18

9



Ref # Part # Description Qty.
1 50050162 Duct Cover, Upper 2

2 50050163 Duct Cover, Lower 2

3 50140127 Top Canopy Panel (ZLC-M90BS) 1

3 50140128 Top Canopy Panel (ZLC-E42BS) 1

4 50500156 LED Accent Light Assembly (ZLC-M90BS) 2

4 50500157 LED Accent Light Assembly (ZLC-E42BS) 2

5 50110164 LED Accent Light Acrylic, (ZLC-M90BS) 2

5 50110165 LED Accent Light Acrylic, (ZLC-E42BS) 2

6 54110102 Support Frame, Upper 1

6-1 54110107 Bracket, Support Frame 2

7 11030028 Wires, Electrical 1

8 54200017 Box, Electrical Junction 1

9 54060007 Damper, 6" Round 1

10 54110074 Support Frame, Lower 1

11 50110243 Light Panel, Rear (ZLC-M90BS) 1

11 50110242 Light Panel, Front (ZLC-M90BS) 1

11 50110241 Light Panel, Front (ZLC-E42BS) 1

11 50110240 Light Panel, Rear (ZLC-E42BS) 1

12 Z0B0042 LED Light Strip, 9W 2

12-1 11030113 LED Wiring 1

13 12120066 Motor 1

14 54140220 Bracket, Electronics 1

15-1 56200051 Box, Component 1

15-2 56210073 Cover, Component Box 1

16 11010089 Control Board 1

17 12050021 Capacitor 1

18 11000127 Switch Assembly 1

19 50200053 Filter, Aluminum Mesh 2

20 50120093 Side Panel (ZLC-M90BS) 2

20 50120094 Side Panel (ZLC-E42BS) 2

21 05000110 Hardware Packet 1

21-1 01090001 Screw, M6 x 1" 4

21-2 01070021 Screw, M4 x 12mm 1

21-3 01650009 Screw, 3/16 x 1/4 4

21-4 01070022 Screw, M4 x 8mm 8

21-5 15000002 Wire Nut 3

21-6 02170001 Washer 4
FEB21.0401

Luce Is.
ZLC-M90BS, ZLC-E42BS


	ZLC-xxxBS
	xZLC-xxxBS
	ZLC


